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General Instructions :

(i)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

(viii)

(ix)

31/1/2

The question paper comprises two Sections, A and B. You are

to attempt both the sections.
All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to

be attempted separately.

Question numbers 1 to 3 in Section A are one mark questions.

These are to be answered in one word or'in one sentence.

Question numbers 4 to 6 in Section A are two marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in-Section A are five marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in section B are two-marks

questions based on practical skills. These are to be answered

in brief.

3 [P.T.O.
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HAT—-H
Section-A
1. = feu mu Fiftent o 9@ fofaw : -
|
(a) CH3—CH2—OH; (b) CH3—C=O

Name the following compounds :
H

|
(a) CH,-CH,-OH; (b) CH,~C=0

2. DNA®IZ?

What is DNA?

3. forsll Sfta wued < 31 Sid gl shi Gl S41ET |

List two biotic components of a biosphere.

4. g TR ToRt0T forelt 3TaT UUT TR 3@ W SR STTER 7Y id] & |
39 NG FI AT I &R W Eiaeht U0 § TEd o q9aTd o

oRToT AT AT 29130 | STRG W SATIAH hivT T Ueidd shior o 37fehd

i |
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A ray of light is incident on a convex mirror as shown. Redraw the
diagram and complete the path of this ray after reflection from the

mirror. Mark angle of incidence and angle of reflection on it.

«

£

PEEfq F C
5. Tordlt vO yemwr Y Ieeww Gfea =men Hifse e o dn o+

Gisha A 8 99 1 Y44 Hollcdlash 1 2

Explain giving example where active involvement of local people

lead to efficient management of forest.

6. Torel 3@ YR @ FEIfeld SIA-9WR JYo-ed o =R i i =

EEIE 2

List four advantages of properly managed watershed management.

7. UGS (ATaiehieh) T BIAT © ¢ 91 BT & el [ohell 3= ol

T | T s 2 7 gEEfass i ) 9gdar 9 SIel

it | 3

What i1s an oxidising agent? What happens when an oxidising
agent is added to propanol? Explain with the help of a chemical

equation.

31/1/2 5 [P.T.O.
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8. weudASt A 1 &7 A A AR | faa = B E 7 Sk o
forry T[oTt <t = ST |

What are covalent compounds? Why are they different from ionic

compounds? List their three characteristic properties.

9. @I dd ‘M’ o soae fo=ma (2, 8, 2) ®, JU% &9 U HAh
(NO,)",(SO,)*” @ (PO,)*” & @1 AN AT & | 38 THR o A
ifrehi o g fafaw | a ‘M’ Ty 3Ted areft o fohg ag 3R
AEd | ot 27 M’ weEast Afie s sigen el Afien
SHTQ ¢ 379 3T <l SHR0T Afed giE AT |

An element ‘M’ with electronic configuration(2, 8, 2) combines
separately with (NO,) (SO 4)2_ and (PO 4)3_ radicals. Write the
formula of the three compounds so formed. To which group and
period of the Modern Periodic Table does the elements ‘M’

belong? Will ‘M’ form covalent or ionic compounds? Give reason

to justify your answer.

10. Ue T & FoReel a1 acdl & T S 3k SoiagH-fomm fafaw | &9
AT~ TIITE T 3Tkl T THHT oS ot 8 7 59 dcal 0 O forefi
T qcd o SATadTse 1 g Tt |
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Name any two elements of group one and write their electronic
configurations. What similarity do you observe in their electronic
configurations? Write the formula of oxide of any of the aforesaid

element.

11. AHE T - | N7 o 91 1 © ¢ JI9T 3G T[RT o STeL Il el §
F1 g Bid 87 Ao & 9HY dShi i feEmee d iEdT dF &

foTu hi STERA 2 7 3

What are the functions of testis in the.human male reproductive
system? Why are these located outside the abdominal cavity? Who
is responsible for bringing about changes in appearance seen in

boys at the time of puberty?

12. AHd SHEEAT @l FF0@ &, ST 99 & e o vgfg & fau
awEsE B, il HiE b T Oy et g y@w fafa % qwm

fergTa 1 Iooig hifTu | 3

Suggest three contraceptive methods to control the size of human
population which is essential for the health and prosperity of a

country. State the basic principle involved in each.

31/1/2 7 [P.T.O.
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13. wg-Tomued 1 2 7 Sfiai § a7 fore Yohr gian & ¢ Har | e i |
fordt wen Sftar =1 9 foTfRaT St 39 TohR o SFH =l SemiaT © |

What is multiple fission? How does it occur in an organism?
Explain briefly. Name one organism which exhibits this type of

reproduction.

14. ““@eqor qeqret 3terat ATUTE Bd 2 | Hed 3 39 ded i &9 o fotu
379 gt okt gfdared forg TeRR foran 7 g8g § 3w A

How did Mendel interpret his result to-show that traits may be

dominant or recessive? Describe briefly.

15. JuTiSid ALTOT 3T STIATRTR &IV oh siiel i fadaTshrt Aeqon st geht
qTfcTehT o &9 H S5 |

List three distinguishing features, in tabular form, between

acquired traits and the inherited traits.

16. TERTST o WehIU I dTcqd © ¢ GATQT qT AT o THI SATehRTT Tt
TR T T TTd BT © | $9 ITEeTeAl shi S0l |fed ST i |

What is meant by scattering of light? The sky appears blue and the
sun appears reddish at sunrise and sunset. Explain these

phenomena with reason.

31/1/2 8
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17. = o o 3@ =i, oo 1ader /39 gl W whig Tehret fohtur Amdes
St gl TR, T I Yfkdeht W ST | s TeRtr | g9 foR
o1 90T B YA o YITd Rl Y S90S |

~ Yy L
"

Draw the following diagram, in which a ray of light is incident on a
concave/convex mirror, on your answer sheet. Show the path of

this ray, after reflection, in each case.

18. frfafaa it gfe = for wro difc:

(a) Tordlt oft Sa-muee | STuseehi / STUHTSIeR! shi IJUTEATd TR # |

[aNaN

(b) TRl TR T@T § Srsti-TaTE TSI BT § |

Give reason to justify the following :
(a) The existence of decomposers is essential in a biosphere.

(b) Flow of energy in a food chain is unidirectional.

31/1/2 9 [P.T.O.
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19. (a) HHE HIGT S O & = O TTT Yedeh 9HT 1 e feAfau :
(i) STvERE
(i) HaAREE TS
(i) ToiE™

(b) =T Sl TLEAT 3 F1E o U IS |

(a) Write the functions of the following parts in human female

reproductive system :
(i) Ovary
(i1)) Oviduct
(ii1)) Uterus

(b) Describe the structure and function of placenta.

20. S 3g9eH U A1 ATy © ¢ ST 3g9a o ToTU ITGER 9 ekt sht
Tt TR | S W I UG SRS o QUi oh STd 3gHH
T ek Tal &l Tehdl ¢ 370 3T hi FR0T |fea giE i |

What is meant by speciation? List four factors that could lead to
speciation. Which of these cannot be a major factor in the
speciation of a self-pollinating plant species. Give reason to justify

your anSwer.

31/1/2 10
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21. (a) U BEGIEREHAT SR STFT ETZGIhTeT o s fawgT T o folg
s TEeh qieqor fafay |

(b) A % 9 H T84 B W §4 aTel 3cdTat o 19 foafae | 29 At
Afferan a1 Tt gter fofau 3R fomifa g9 aredt fafvs
YR <hl HSI13T] ohl ST |

(c) T = veprer I Iufedfer & B9 A FAGT ok | AT H
yfereerma stfrfsran s w1 ST 2 7 5

(a) Give a chemical test to distinguish between saturated and

unsaturated hydrocarbon.

(b) Name the products formed when ¢thane burns in air. Write the
balanced chemical equation for the reaction showing the types

of energies liberated.

(c) Why is reaction between methane and chlorine in the presence

of sunlight considered a substitution-reaction?

22. (a) Tt otadal <@ gRI 38 g W TRt forar o1 wfdfers s
quTi+ % ot femeor s wife |
(b) Ik 3@ ¥ fora-glt, wfcifora g 1 39 3t fug (75 iy
g afturdl & SATHR GFTH (+) AT TS (—) ) Tl e
3R Ieei@ AITT for 39 wohtor # 3 gt s1aaa ol ohl i gl
() @ Tore JepR waifra 2
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(c)

(a)

(b)

(c)

(a)

(b)

31/1/2
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39 | A Ypid R ewar i AT, S T TS hex °
40 cm g R fera foreht ot a1 1 e1mad a1 wfcifors sAman 2 |

Draw a ray diagram to show the formation of image by a

concave lens when an object is placed in front of it.

In the above diagram mark the object-distance (#) and the
image-distance (v) with their proper signs (+ve or —ve as per the
new Cartesian sign convention) and state how these distances

are related to the focal length (f) of the concave lens in this case.

Find the nature and power of a lens which forms a real and
inverted image of magnification —1 at a distance of 40 cm from

its optical centre.

et vl o wee | = faw T et i aftam fafee

(i g

(i) Tshdl 5

(i) 7= &

(iv) &I ®ihd

i fow e et o g wieRw g o fore fomor s wife:
(i) FId gUur

(i) 3T g0

12
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(¢) = feu Tu oM@ W fomm ifsw | 58 M #iE gdur ® qen P w@is
forar 2, fSreRT gdur gRy = Strarfeia gfafsrar Q 2 |

YU M & Yo o It iy 3T Afdferar Q =T whig U fafl3Te
o7 feafa | 5

(a) Define the following terms in the context of spherical
Mmirrors :
(1) Pole
(i1)) Centre of curvature
(i11) Principal axis
(iv) Principal focus

(b) Draw ray diagrams to show the principal focus of a

(i) Concave mirror

(i1)) Convex mirror

31/1/2 13 [P.T.O.
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24. (a)

(b)
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Consider the following diagram in which M is a mirror and
P i1s an object and Q is its magnified image formed by the

mirror.

State the type of the mirror M and one characteristic property of
the image Q.

AL 93 o A1 U 7T T ies 9t o1 i ferfau
gaeft, aftartient, freeeti= ofa, gemnft

U o faemmasiicl 330 & Ardil SAh shitHai-31gdr 8 difed & | 9
IR Bl TS R I Shil-aT o JRIo /e g/ 3teh
foRaIT ST Tohdl 2 | 37Tk 18T oh fenel GUYeRT THTST 4 37T TSiY
T 3H) 929 & IR H SIT%ehdl 39 i & 323 9 Teh IIH

S Tk 21 afe S8 59 Sfia-ae § 91 o & fore e

ST, Y 3719 59 U i § fohd SehR T ot ?

(i) 39 YR o M 1 SRS L 1 33 forfay |

(i) T o 9T A9 A1 Sl T A o fI¢ IRG L G0 3119
TN hT ST Tqeh ol ¢ UH QT IRl ohl et SMTST |

(iii) 3 &1 Yool st gt ST, S 3 At 7 foskfad & 9 E,
ST 38 TR o AT H AT TRt Afshd INEH od © |
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(a) Write the function of each of the following parts of human eye :

cornea; iris; crystalline lens; ciliary muscles

(b) Millions of people of the developing countries of world are

suffering from corneal blindness. These persons can be cured
by replacing the defective cornea with the cornea of a donated
eye. A charitable society of your city has organised a campaign
in your neighbourhood in order to create awareness about this
fact. If you are asked to participate in this mission how would

you contribute in this noble cause?
(i) State the objective of organising such campaigns.

(i1) List two arguments which you would give to motivate the

people to donate their eyes after death.

(i11) List two values which are developed in the persons who

actively participate and contribute in such programme.

HT-o

Section-B

foiflgd & & =9 |usiTd 7 o1 9= © 7

(a) Hah, ueft 3T fushelt o 3mUEe

(b) FFeT o Tk FR ATHATAIT o FHeh
(c) =TEE & I R faqeft & va

(d) vl % T 3R THIEE & UG

15 [P.T.O.
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Which of the following is a correct set of homologous

organs?

(a) Forelimbs of frog, bird and lizard

(b) Spine of cactus and thorn of bougainvillea
(c) Wings of bat and wings of butterfly

(d) Wings of a bird and wings of a bat

forett 1= =l ““Torelt Taafisostt st o yor o fafsm Wi <t ve=m ser
TRINT 31 AT © | St ok <t fow e wel | @ 3w e g

(a) W, =, T

(b) TSHI, Hhl, =T

(c) TFHI, IS, TSI

(d) USHI, "X, <1

A student has to perform the experiment “To identify the different
parts of an embryo of a dicot seed.” Select from the following an

appropriate group of seeds :

(a) pea, gram, wheat

(b) red kidney bean, maize, gram
(c) maize, wheat, red kidney bean

(d) red kidney bean, pea, gram

31/1/2 16
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27. = fou U e w1 remeE HifGe foaw foredt a1 3 Straas i (L),
YA I (Lr), TG 0T (Le), =0 @101 (LA) a2 fome™ s
(£D) 3iferd fopu 2 | st Tt 3ifohd shior 2 - 1

(a) LAdT Zi

(b) LA, Zi3d Lr

(c) LA, Zi, Ze d /D

(d) ZA, Zi, Zr 9 £D

Study the following figure in which a student has'marked the angle

of incidence (Zi), angle of refraction (£r), angle of emergence

(ZLe), angle of prism (£LA) and the angle of deviation (£D). The
correctly marked angles are :

(a) LA and Zi
(b) ZA, Ziand Zr
(c) ZLA, Zi, Ze and ZD

(d) LA, Zi, Zr and £D

31/1/2 17 [P.T.O.
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28. ToREt STFATRR A o Wid ¥ oA aTel YehreT ToroT 31 99 STRRET
FH o foru, Fia & wft S i arnfies sTewen gain g 7

N NN

P Q R S

(a) P

(b) Q
(c) R
(d) S

Select from the following the best experimental set-up for tracing

the path of a ray of light passing through a rectangular glass slab :

P

(a) P

(b) Q
(c) R
(d) S

31/1/2 18
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29. Torelt B 9 JERTIET BN % g AR W @l " il Ssare
T AIdd U AT o1 g0 Yidafersr foret o8 W, 3Et S99 o
# wiHd g I FA * faw, g fowan | S meiem 3 3@ @
T HIhd U 1 3T AT T A U i oh ToTT SRINTSIET & ST
1 km @ o fret waa o1 ®hid & o1 gama foam | 3 9
T 3 TEY YA Dl BIRGA B b [T W AT AT TAETANRG
AT A : 1
(a) TUUHI UG H T
(b) TG I YT H K
(c) U< ol UYT St AR
(d) U< ol 9ad i AR

A student obtained a sharp image of a candle flame placed at the
distant end of the laboratory table on a screen using a concave
mirror to determine its focal length. The teacher suggested him to
focus a distant building about 1 km far from the laboratory, for
getting more correct value of the focal length. In order to focus the
distant building on the same screen the student should slightly

move the :

(a) mirror away from the screen
(b) screen away from the mirror
(c) screen towards the mirror

(d) screen towards the building

31/1/2 19 [P.T.O.
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30. fou TU 39« i@ it Afehe ®eRd g, Topdt gy fomar (S|, IS 9

31.

TE) S BIhHd Tk, JTd H o oI 379 36 forat o1 gfeafons od w
TS ST o1 ST A & | 98 OX ST fdfersl 9ed & gt & -

(a) ®em R ured witafda

(b) e IR Bran

(c) 32 IR BI

(d) TTEY, 3T R B

To determine the approximate focal length of the given convex lens

by focussing a distant object (say, a sign board), you try to focus
the image of the object on a screen. The image you obtain on the

screen is always :

(a) erect and laterally inverted
(b) erect and diminished
(c¢) inverted and diminished

(d) virtual, inverted and diminished

F1E BF 25 mL gTiEar it IR WEAEl P, Q, R 3R S a3
T § 10 mL ST ST Hdl @ | 98 39 WAl § 9) e d@an
1 Ueh-Tsh IH< 39 JehR fHardt & — P ® KCl; Q # NaCl; R d CaCl,

AT S H MgCl, | TeI=Td 98 Tedeh WEHel! H |G o [t oh T
TN 2 mL ST & | e T o UgTet sl Well-Hifd e ®

34 51 @Al § T 311 e ot SrmadT 7, 3 Wil & -

(a) P3RQ (b) R3S
(c) P,Q3R R d P,Q3W S

31/1/2 20
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A student takes four test tubes marked P, Q, R and S of 25 mL
capacity and fill 10 mL of distilled water in each. He dissolves one
spoon full of four different salts in each as — KCI in P, NaCl in Q,
CaCl, in R and MgCl, in S. He then adds about 2 mL of a sample
of soap solution to each of the above test tubes. On shaking the
contents of each of the test tubes, he is likely to observe a good

amount of lather (foam) in the test tubes marked :

(@) Pand Q (b) RandS
(c) P,QandR (d) P,QandS
32. i fou U weel & fRe Ouee @1 3TN "EA AW % forw
ATTeRToT— TSR ohl Rt ok ToTq foRarm ST &ehaT 2 7
(a) Ca(OH), ¥R = 0
(b) NaOH 2 9 &1 de
(c) NaOH 3R @f¥s da1
(d) Ca(OH), 3R @l d
Which of the following sets of materials can be used for conducting
a saponification reaction for the preparation of soap?
(a) Ca(OH), and neem oil
(b) NaOH and neem oil
(c) NaOH and mineral oil
(d) Ca(OH), and mineral oil
31/1/2 21
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33. wreHATRT iR o fow ® i €t 18 fewaforn w foem ifste -

[ 3 SAfishanati § o1 3cae Bidl @

I 9 & 3y s@eue & fau sifufsn fasor 4 wifesm w=iss
[ERIRISIGIE

I Grertor stfirfsran weh oy yerm 3t Sarefiientor stfifsran 2

IV |1 Al TEe o JEia STl ol &R el &

3 et fewfor

() LIFII

(b) IL LTIV
(¢c) LUIIV
(d) FIALIMRIV

Consider the following comments about saponification reactions :
I Heat is evolved in these reactions

I For quick precipitation of soap sodium chloride is added to the

reaction mixture

IIT Saponification reactions are special kind of neutralisation

reactions
IV Soaps are basic salts of long chain fatty acids

The correct comments are :
(@) I, IIand III

(b) II, III and IV

(c) LLITand IV

(d) OnlyIandIV

31/1/2 22
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34, =iz B TRt el SEicd g T o dfdfers &1 39a o W
Torelt U¢ R Wik Ed HEaT © | deaved a8 fR-ofR forer ol ofg Y SR o
AT 8, 3 B TR 98 oI i THEING Shieh fol o gfafers =1 18 ©
RIhTId T ¢ | 2

(i) a8 <9 = form foem o TamTafa st 2- U< sl IR AYar ue 9
Y

(i) wffors o ATEST 1 AT TAT & - IE T2l & AT Tl ¢ ¢

(iii) ST o8 foray o1 <@ o STcaferes fere o SITAT 8, e Ue W Widferat o
FTRATR ?

A student focuses the image of a well illuminated distant object on

a screen using a convex lens. After that he gradually moves the
object towards the lens and each time focuses its image on the

screen by adjusting the lens.

(1) In which direction-towards the screen or away from the screen,

does he move the lens?

(i) What happens to the size of the image-does it decrease or

increase?

(i11)) What happens to the image on the screen when he moves the

object very close to the lens?

35. 39 GHI 3T FA1 Y& Fd § S A THIRF A H F© I8 39
e § e & foad s R 2
() TraTeefem
(ii) ST SiA
(iii) HEE gEh
(iv) HifeT TESISH e ol

31/1/2 23 [P.T.O.
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What do you observe when you drop a few drops of acetic acid to a

test tube containing :
(1) phenolphthalein
(i1) distilled water
(i11) universal indicator

(iv) sodium hydrogen carbonate powder

36. THIe o fomued % 36 o=y =wor &1 AmwifeRd T Wity fed 3uh
S5k QTEiehd &l ST © ST TRl hINTRT fofoat! H FhIvH TR
TR |

Draw a labelled diagram to show that particular stage of binary

fission in amoeba in which its nucleus. elongates and divide into

two and a constriction appears in its cell membrane.

31/1/2 24
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MARKING SCHEME Code No. 31/1/2

CLASS X — DELHI

Expected Answer/ Value point
SECTION-A

(a) Ethanol (b) Ethanal
It isthe carrier of hereditary information from parents to the next generation.
Producers, consumers, decomposers

OR
Plants, animals, micro-organisms (Any two)

Tracing the reflected ray
Marking £i & £r

¢ InWest Bengal the Sal forests had been very badly degraded.

o A forest officer involved villagers in protection of Sal forest and gave them
employment in silviculture and harvesting operations.

e Villagers were alowed to collect firewood and fodder on a nominal
payment.

e Within a period of 10 years the previously worthless forests became
valuable.

Advantages of watershed management —

(i)  mitigates drought and floods

(ii) increasethe life of the dams and reservoirs downstream

(iii) increases the biomass production and thereby the income of the
watershed community.

(iv) helpsin maintaining ecological baance by scientific conservation of soil
and water. or any other (Any four)

e |t is asubstance which can give oxygen to other substances.

4 _ _ _ AlkalineKMnO ,+Heat _ o~
CH3 CH2 CH2 OH — 4 N CH3 CH2 c—-OH
OR Adcidified K .Cr,,O_+Heat Il

27277 O

Propanal Propanoic acid

¢ Propanol is oxidised to Propanoic acid.

e Covaent compounds are those compounds which are formed by sharing of
el ectrons between two atoms / which contain covalent bonds.
e Covaent compounds are different from ionic compounds because the ionic

Marks

Yo+ Yo

Yo, Y2

Yo, Y2
Yo
Yo
Yo

Ya

4xY

Ya

Total
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compounds are formed by the transference of electrons.
e Three characteristics of covalent compounds:
(i) Generally have low melting and boiling points.
(ii) Generaly insoluble or less soluble in water but soluble in organic

solvents.

(iif)Do not conduct electricity. (Or any other characteristic) (Any three) 3xw 3
Qo. e The electronic configuration (2, 8, 2) of the element ‘M’ suggests that it
belongs to group 2 and period 3 of the Modern Periodic Table and its
valency is 2. Yo+l
e The chemica formula of the compounds are —
M (NO3), / Mg (NOs)2; MSO, / MgSO4; M3 (POy), / Mgz (POy).. 3xY2
e ‘M’ will form ionic compounds by losing two electrons. Yo 3
Q10. e Two elementsof group 1 are Na, K / sodium, potassium 2x Y%
Electronic configurationsNa=2,8,1; K =2,8,8,1 2X Y2
o Similarity: Both have one valence electron / One dectron in outermost
shell Ya
¢ Oxide-NaO/K-,0 1 3
Q11. Functions of testis—
(i) Produce sperms Y
(ii) Produces male hormone/ testosterone Y
e These are located outside the human body, as sperms need lower
temperature than the normal body temperature to mature. 1
e Testosterone 1 3
Q12  Three methods of contraception —
(i) Barrier method or mechanical method/ Condom/ Diaphragm, to prevent
the meeting of sperms and ova.
(i) Chemical method/ Ora pills, Changes.-the hormonal baance of the
femal e partner so that the eggs are not released.
(i) Surgical method — to block the vasdeferens in males vasectomy or the
fallopian tube (oviduct) in females/ tubectomy, to prevent the transfer of
sperms or egg and hence no fertilization takes place.
(iv) 1UCD</ Loop or the copper-T placed in the uterus, to prevent pregnancy  3x (Y2+
(Any three) Y5) 3
Q13  Multiple fission:- The process of reproduction in which many individuals are
formed or produced from the parent cell. 1
In this process, the nucleus divides repeatedly to produce large number of
nuclei. Each nucleus gathers a bit of cytoplasm around itself, develops a
membrane around each structure. Many daughter cells develop which on
liberation grow into adult organism. 1%
Plasmodium exhibits this type of fission. Y 3
Q14. Mendd conducted breeding experiments on Pea plants.
o Heselected pure bred tall and dwarf plants. Y
e Hecross-pollinated these plants. Y
¢ IntheF, generation obtained only tall plants. Talnessis the dominant trait. Y
e Then, he produced F, generation by selfing of hybrids/ F; Y
Delhi—31/1/2 Page 3

QB365-Question Bank Software



Q15.

Q16.

Q17.

Q18.

Q19.

QB365-Question Bank Software

e Hefound that 3/4" of the plants were tall and 1/4™ were dwarf.
The trait which remains hidden in F; generation plants is the recessive
traits.

Acquired traits Inherited traits
Do not bring changesin the DNA of Bring changesin the DNA of
germ cells. germ cells.

Cannot direct evolution Can direct evolution
Cannot be passed on to the progeny Can be passed on to the progeny

e Scattering of light — Phenomenon of spreading of light (diffused reflection)
by minute particlesin a medium.

o The sky appears blue because the blue colour of sunlight scatters much
more strongly than the red colour by particles in atmosphere/ air due to its
shorter wave length.

e At sun-rise and sun-set most of the blue light and shorter wavelengths are
scattered away by the particles in the atmosphere as the light from the sun
near the horizon passes through thick layers of air and larger distance. The
light that reaches us is of longer wavelength (red colour) giving a reddish
appearance.

=) . ¥ <N

a) The existence of decomposers is essential in a biosphere because they
breakdown complex organic substances into. smple inorganic substances
that can be absorbed by the plants. Thus, decomposers
e replenish the soil naturally
¢ helpsin removing the biodegradable waste.

b) Inafood chain the energy moves progressively through the various trophic
levels, it is no longer available to the previous level (autotrophs) and the
energy captured by the autotrophs does not go back to the solar input.
Hence, the flow of energy is unidirectional

a (i) Ovay- (i) Production of female hormone
(it) Production of female gamete
(i)  Oviduct- (i) Transfer of female gamete from the ovary
(ii) Site of fertilization

(iii)  Uterus- (i) Implantation of the zygote
(ii) Nourishment of the devel oping embryo/ placenta
formation
b) Structure of Placenta — it is a disc like structure embedded in the uterine
wall connected to the embryo. It has villi on the embryo’s side of the tissue
and on the mother side, it has blood spaces, which surround the villi.

Yo

Ya

3x1

Yo

Yo
Yo

1%

Yo
Yo
Yo
Yo
Yo

Ya

Yo
Yo

3
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Function of Placenta— it provides alarge surface areafor nutrients/ glucose
and oxygen to pass from the mother’s side to the embryo and waste Yo
substances from the embryo’s side to mother’s blood. Y 5

Q20. e Speciation:- The process of formation of a new species from a pre-existing
one. 1
e Four factors:
Genetic drift
Mutation / Drastic change in the genes or DNA
Natural selection
Geographical isolation 4x Y
e Geographical isolation cannot be a major factor in the speciation of a self-
pollinating plant species. 1

¢ Reason:- Physical barrier cannot be created in self-pollinating plants. 1 5

Q21. Pass the vapours of the given samples of saturated and unsaturated
hydrocarbons into bromine water taken in two separate test tubes. The one
which discharges the colour of bromine water is that ~of unsaturated
hydrocarbon and the other represents saturated hydrocarbon. (or ‘any other test) 2
On burning ethane in air, the products obtained are carbon dioxide and water,

along with heat and light. 1
2CHg (g) + 70, (g) > 4CO, (g) + 6 H,0O () + Heat + Light 1
It is considered a substitution reaction because the hydrogen atoms of methane
(CH,) are replaced by chlorine atoms one by one. 1 5
Q22. a)
. _\_'._._L_T‘;'"'r 5
f o :
Diagram 1
b) Marking —uand-v = %, %
Relation :
111
f v u
¢c) As, m=-1 hence, the lens is convex. Y
v
v Mm=— SoV=-u
u
Thus, object isat 2F
2f=40cm
S~ f=20cm=0.2m 1
1 1
P=—=— = +5D (convex lens)
f 02 1 5
Q23. a i) Pole- Centreof the reflecting surface of the mirror.
ii)  Centre of curvature — The centre of the hollow sphere of which the
reflecting surface of mirror forms a part.
iii)  Principal axis — Straight-line passing through the pole and the centre
of curvature of a spherical mirror.
Delhi-31/1/2 Page 5
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iv) Principal focus — Incident rays paralel to principal axis, after
reflection, either converge to or appear to diverge from a fixed point
on the principal axis called principal focus of the spherical mirror. aX Yo
b) 1) A B
At ‘
infinity
B 1
i) __
X Eg”
EEIE SIS P - C
c¢) Concave mirror Y
Image formed is virtual Yo 5
Q24. a) e Cornea- Refractstheraysof light falling on the eye Y
e Iris— Controlsthe size of the pupil Y
e Crystalline lens — Focuses the image of the object on the retina Y
e Ciliary muscles— Holdsthe eye lens and adjustsits focal length Ya
b) i) Objectives — To make people aware and realize their duties towards
society. 1
i) One person can give sight to two people Yo
Our eyes can live even after our death Yo
lit) Concern for others/ Responsible behavior/ Group work/ or any other
(Anytwo) 2xY¥ 5
SECTION-B
25 (a) 26 (d) 27 (a)
28 (d) 29 (c) 30 (c)
31(a) 32 (b) 33(c) 9x1 9
Q34. (i) Lenstowardsthe screen/ screen away from the lens
(Note: one mark to be awarded for any other answer) 1
(@ii)  Increase Y
(iii) No image on the screen Y 2
Q35. (i) Nochange/ or remains colourless
(i)  Nochange
(iii)  Turns pink/orange
(iv) Evolution of acolourless/ odorless gas with brisk effervescence 4XYs 2
Q36. daughter cells
ansh’iton
Diagram 1
Labelling %, % 2
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